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Fe Calibration Curve
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Figure A-1 The calibration curve of Fe. 
 
 

Mg Calibration Curve
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Figure A-2 The calibration curve of Mg. 
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Ca Calibration Curve
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Figure A-3 The calibration curve of Ca. 
 
 

Zn Calibration Curve
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Figure A-4 The calibration curve of Zn. 
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Pb Calibration Curve
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Figure A-5 The calibration curve of Pb. 
 
 

Cr Calibration Curve
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Figure A-6 The calibration curve of Cr. 
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Cd Calibration Curve
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Figure A-7 The calibration curve of Cd. 
 
 

Cu Calibration Curve
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Figure A-8 The calibration curve of Cu. 
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Mn Calibration Curve
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Figure A-9 The calibration curve of Mn. 
 
 

As Calibration Curve
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Figure A-10 The calibration curve of As. 
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Ni Calibration Curve
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Figure A-11 The calibration curve of Ni. 
 


